
MATHS

BOOKS - RS AGGARWAL MATHS (HINGLISH)

CIRCLE

Solved Examples

1. Find the equation of circle with centre ( 3, - 2) and radius 5.

A. 

B. 

C. 

D. none of these

Answer: A

W t h Vid S l ti

x2 + y2 − 6x + 4y − 12 = 0

x2 + y2 − 4x + 6y − 10 = 0

x2 + y2 + 6x − y − 10 = 0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_voK5206NbxxE


Watch Video Solution

2. Find the equation of a circle whose centre is  and which passes

through the point .

A.  

B.  

C.  

D. None of these

Answer: B

Watch Video Solution

(2, − 1)

(3, 6)

⇒ x2 + y2 + 4x − 2y − 45 = 0

⇒ x2 + y2 − 4x + 2y − 45 = 0

⇒ x2 + y2 − 4x − 2y − 45 = 0

3. Find the equation of the circle passing through the point  and

having its centre at the intersection of the lines

.

Watch Video Solution

(2, 4)

x − y = 4 and 2x + 3y + 7 = 0

https://dl.doubtnut.com/l/_voK5206NbxxE
https://dl.doubtnut.com/l/_Iw2Yxa9PSvDH
https://dl.doubtnut.com/l/_XADmB5jmIyHh


4. Find the equation of the circle with radius 5 whose centre lies on
xaxis

and passes through the point (2, 3).

Watch Video Solution

5. Find the equation of a circle, the end points of one of whose diameters

are  and .

Watch Video Solution

A(2, − 3) B( − 3, 5)

6. Find the equations of the circles drawn on the diagonals of the

rectangle as its diameter whose sides are

Watch Video Solution

x = 6,  x = − 3,  y = 3 and y = − 1.

https://dl.doubtnut.com/l/_XADmB5jmIyHh
https://dl.doubtnut.com/l/_ctOpSe6vFH76
https://dl.doubtnut.com/l/_govIpJVLdIPr
https://dl.doubtnut.com/l/_3XvdzaYR4lQ9


7. If 
is a chord of the circle 
, find the equation

of a circle with this chord as
diameter.

Watch Video Solution

y = 2x x2 + y2 − 10x = 0

8. Find the equation of a circle with centre  and touching the x -axis.

Watch Video Solution

(h, k)

9. Find the equatiion of a circle with centre  and touching the y-axis.

Watch Video Solution

(h, k)

10. Find the equation of a circle with centre  and touching both the

axes

Watch Video Solution

(h, k)

https://dl.doubtnut.com/l/_sRzwxabaPoeZ
https://dl.doubtnut.com/l/_7dtLvf18OGfx
https://dl.doubtnut.com/l/_43xtUPHqHv16
https://dl.doubtnut.com/l/_3sutT5I3zEOF
https://dl.doubtnut.com/l/_UkM6IjudYPcq


11. Show that the equaion  represents a

circle. Also, find its centre and radius.

Watch Video Solution

x2 + y2 − 6x + 4y − 36 = 0

12. Show that the equation represent a

circle. Also find its centre and radius .

Watch Video Solution

3x2 + 3y2 + 12x − 18y − 11 = 0

13. Find the equation of a circle passing through the points

. Find its centre and radius.

Watch Video Solution

(5, 7), (6, 6) and (2, − 2)

14. The radius of the circle passing through the vertices of the triangle

formed by the lines 

W h Vid S l i

x + y = 2, 3x − 4y = 6, x − y = 0

https://dl.doubtnut.com/l/_UkM6IjudYPcq
https://dl.doubtnut.com/l/_NirRtCEo348y
https://dl.doubtnut.com/l/_z1OnTdgiGZ1N
https://dl.doubtnut.com/l/_1tBwvwnwVpeU


Watch Video Solution

15. Show that the points  are concyclic,

i.e., all lie on the same circle. Find the equation, centre and radius of this

circle.

Watch Video Solution

(5, 5), (6, 4), ( − 2, 4) and (7, 1)

16. Find the equation of the circle passing through the centre of the circle

 and concentric with the circle 

.

Watch Video Solution

x2 + y2 + 8x + 10y − 7 = 0

x2 + y2 − 4x − 6y = 0

17. Find the equation of the circle whose centre lies on the line

 and which passes through the points .

Watch Video Solution

x − 4y = 1 (3, 7) and (5, 5)

https://dl.doubtnut.com/l/_1tBwvwnwVpeU
https://dl.doubtnut.com/l/_SLOdtuc9v5x3
https://dl.doubtnut.com/l/_lTojyy0d9nNs
https://dl.doubtnut.com/l/_txQZWA3xv8Tp


Exercise 21 A

18. Find the equation of a circle concentric with the circle 

 

and of double its area.

Watch Video Solution

2x2 + 2y2 − 6x + 8y + 1 = 0

19. Find the equation of a circle which passes through the origin and cuts

off intercepts  from the x - axis and the y - axis respectively.

Watch Video Solution

−2 and 3

1. find the equation of circle whose centre  and radius 5

Watch Video Solution

(2, 4)

https://dl.doubtnut.com/l/_TDQjorOB9Szv
https://dl.doubtnut.com/l/_rSpr4QXsbYYW
https://dl.doubtnut.com/l/_WobpFk4nvLCk


2. find the equation of circle whose centre  and radius 6

Watch Video Solution

( − 3, − 2)

3. centre  and radius 

Watch Video Solution

(a, a) √2

4. Find the equation of the circle with: Centre 
 and

radius 

Watch Video Solution

(a cosα,  a s ∈ α)

a.

5. Find the equation of the circle with centre : and radius 

.

Watch Video Solution

( − a, b)

√a2 − b2

https://dl.doubtnut.com/l/_OSkxtIC0XIs2
https://dl.doubtnut.com/l/_pqcXpSyTBwqR
https://dl.doubtnut.com/l/_F52hGfzpuQrh
https://dl.doubtnut.com/l/_Be4qQOwH0JYI
https://dl.doubtnut.com/l/_6aWeatBhWQE6


6. centre at the origin and radius 4

Watch Video Solution

7. Find the centre and radius of each of the following circles : 

(i)  

(ii)  

(iii)  

(iv)

Watch Video Solution

(x − 3)2 + (y − 1)2 = 9

(x − )
2

+ (y + )
2

=
1
2

1

3

1

16

(x + 5)
2

+ (y − 3)
2

= 20

x2 + (y − 1)
2

= 2

8. Find the equation of the circle whose centre is  and which

passes through the point 

Watch Video Solution

(2, − 5)

(3, 2)

https://dl.doubtnut.com/l/_6aWeatBhWQE6
https://dl.doubtnut.com/l/_RvypTBXaXy38
https://dl.doubtnut.com/l/_XcKJp06Sc2lw


9. Find the equation of the circle of radius 5 cm, whose centre lies on the

lies on the y-axis and which passes through the point 

Watch Video Solution

(3, 2)

10. Find the equation of th circle whose centre is  and which

passes through the intersection of the lines

.

Watch Video Solution

(2, − 3)

3x + 2y = 11 and 2x + 3y = 4

11. Find the equation of the circle passing through the point  and

having its centre at the point of intersection of the lines  and

Watch Video Solution

( − 1, 3)

x − 2y = 4

2x + 5y + 1 = 0

https://dl.doubtnut.com/l/_5dN9wsklvjf2
https://dl.doubtnut.com/l/_5ZB70ITcImEB
https://dl.doubtnut.com/l/_tmLZI41EODZo


12. If two diameters of a circle lie along the lines

 and the area of the circle is 38.5 sq cm, find

the equation of the circle.

Watch Video Solution

x − y = 9 and x − 2y = 7,

13. Find the equation of the circle, the coordinates of the end points of

one of whose diameters are 

(i)  

(ii)  

(iii)  

(iv) 

Watch Video Solution

A(3, 2) and B(2, 5)

A(5, − 3) and B(2, − 4)

A( − 2, − 3) and B( − 3, 5)

A(p, q), B(r, s)

14. The sides of a rectangle are given by the equations x=-2, x = 4, y=-2

andy=5. Find the equation of the circle drawn on the diagonal of this

rectangle as its diameter.

https://dl.doubtnut.com/l/_YUAOWtKHnbew
https://dl.doubtnut.com/l/_Th0Iv2BMgVbP
https://dl.doubtnut.com/l/_Qm6hFukePPyd


Exercise 21 B

Watch Video Solution

1. Find the centre and radius of each of the following circle:

Watch Video Solution

x2 + y2 − 4x + 6y = 5

2. Show that the equation  represents a circle find

its centre and radius.

Watch Video Solution

x2 + y2 + x − y = 0

3. Show that the equation  represents a

circle Find its centre and radius.

Watch Video Solution

3x2 + 3y2 + 6x − 4y − 1 = 0

https://dl.doubtnut.com/l/_Qm6hFukePPyd
https://dl.doubtnut.com/l/_wj9s2hgfT2b3
https://dl.doubtnut.com/l/_B35YkZ6bkKpR
https://dl.doubtnut.com/l/_FIkq90T2cb1s


4. Show that the equation  represents a

point circle. Also, find its centre.

Watch Video Solution

x2 + y2 + 2x + 10y + 26 = 0

5. Show that the equation  does not

represent a circle.

Watch Video Solution

x2 + y2 − 3x + 3y + 10 = 0

6. Find the equation of the circle passing through the points 

(i)  

(ii)  

(iii)  

Also, find the centre and radius in each case.

Watch Video Solution

(0, 0), (5, 0) and (3, 3)

(1, 2), (3, − 4) and (5, − 6)

(20, 3), (19, 8) and (2, − 9)

https://dl.doubtnut.com/l/_FIkq90T2cb1s
https://dl.doubtnut.com/l/_2I18RG383egd
https://dl.doubtnut.com/l/_sRGpmpu58MRN
https://dl.doubtnut.com/l/_glcOyD8mA0wX


7. Find the equation of the circle which is circumscribed about the

triangle whose vertices are . Find the

centre and radius of this circle.

Watch Video Solution

A( − 2, 3), B(5, 2) and C(6, − 1)

8. Find the equation of the circle concentric with the circle

 and passing through the point .

Watch Video Solution

x2 + y2 + 4x + 6y + 11 = 0 P (5, 4)

9. Show that the points  and  all lie

on the same circle. Find the equation of this circle, its centre and radius.

Watch Video Solution

A(1, 0), B(2, − 7), C(8, 1) D(9, − 6)

https://dl.doubtnut.com/l/_7OKU8JF8Lty4
https://dl.doubtnut.com/l/_YgNlffw8F8z5
https://dl.doubtnut.com/l/_3UE2VxAfAF3l


10. Find the equation of the circle which passes through the points

, and has its centre on the line 

Watch Video Solution

(1, 3) and (2, − 1) 2x + y − 4 = 0

11. Find the equation of the circle concentric with the circle

 and which touches the y axis

Watch Video Solution

x2 + y2 − 4x − 6y − 3 = 0

12. The equation of circle concentric with circle

 and double its area is

Watch Video Solution

x2 + y2 − 6x + 12y + 15 = 0

13. Prove that the centres of the three circles

x2 + y2 − 4x– 6y– 12 = 0, x2 + y2 + 2x + 4y − 5 = 0 and x2 + y2 − 10x–

https://dl.doubtnut.com/l/_7TONLLeBQWSo
https://dl.doubtnut.com/l/_hdwLJCxFPXLK
https://dl.doubtnut.com/l/_t03X6UGvs6qC
https://dl.doubtnut.com/l/_39XcCkQ1O9qY


are collinear.

Watch Video Solution

14. Find the equation of the circles which passes through the points

 and whose radius is 1. Show that there are two such

circles.

Watch Video Solution

A(1, 1) and B(2, 2)

15. Find the equation of the circle passing through (0, 0) and making

intercepts a and b on the coordinate axes.

Watch Video Solution

16. Find the equation of the circle circumscribing the triangle formed by

the straight lines .

Watch Video Solution

x + y = 6, 2x + y = 4 and x + 2y = 5

https://dl.doubtnut.com/l/_39XcCkQ1O9qY
https://dl.doubtnut.com/l/_8J3wJK7KcIgf
https://dl.doubtnut.com/l/_FbIVz5l9J0Gg
https://dl.doubtnut.com/l/_DjB9wx0kcNxM


17. Show that the quadrilateral formed by the straight lines

 is cyclic and

hence find the equation of the circle.

Watch Video Solution

x − y = 0, 3x + 2y = 5, x − y = 10 and 2x + 3y = 0

18. If  are the extremities of the diameter of the

circle , find the coordinates .

Watch Video Solution

( − 1, 3) and (α, β)

x2 + y2 − 6x + 5y − 7 = 0 (α, β)

https://dl.doubtnut.com/l/_DjB9wx0kcNxM
https://dl.doubtnut.com/l/_wZ66TBkXmRkK
https://dl.doubtnut.com/l/_LmG4XvXe130k

